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And now that you say, paying a half — damage is a fine ...

OVERVIEW

The X713 states that since we rule that X01p 1"9 then in the case(s) where a dog ate a
(large) sheep, etc., the 7"2 in 922 cannot extract payment from the p°m, for we do
not judge MBI °1°7 in 222 (only in °"X). It would seem from this X773 that had we
ruled that X1n 1" then we would collect payment from the 12 (even) in 922
(since it 1s X31M1). NBOIN rejects this notion.
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It appears (to n901N) that this statement, ‘if a dog ate sheep, etc., it is 71Wwn and
payment for this damage cannot be collected in 722 (however in X W° ¥9X it can be

collected)’; this ruling is specifically limited to the one who maintains Ro1p 1"'
(according to this 7"n it would be collectible in >"X where they are moip °17 17) -
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However according to the one who maintains X1y» 1''s, the P°12 is not liable at
all (he will be Mo even in *"X).
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Because from where will you derive his culpability; it cannot be derived from

97 (according to the xnmn 1" ") -
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For damaging with 99 is usual since the X1»» 1"95 7"» maintains that oxen

generally are not considered to be guarded and are prone to damage, however -
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By this case of a dog eating [large] sheep it is abnormal, for it is not the manner

of dogs to eat large sheep -
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However according to the one who maintains X917 1''5 then a 121 *2°K HOX7 X295

is a 3927 770N -
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For both (a 72X 087 X292 and 17p) are unusual (for this 7"» maintains 2> ano
MM MW 2112 and it is unusual for a MW to damage with his 17p), even though by
197 the ox has intent to damage, and by ™nx 93x7 X293 there is no P>172 713, nevertheless
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it is considered a 77p7 179 n." Therefore in >"x the 29371 Y¥1 is liable to pay the xoip 1"5; however
in 922 where we are not M03p °3°7 77 it is not collectible.

SUMMARY
According to the 8111 1"5 7" a 121 *1°K HIRT 8225 will be 1wd even in "X since it
1s 1Wwn and cannot be derived from 77p.

THINKING IT OVER

1. There (seemingly) is a difficulty in the X3n3; why does the X723 mention the
extreme cases of X?137N 779KT XMW 2K 9IRT X270 to teach us the rule that X
922 moip °°7 117. The X3 could have taught it to us by a regular case of 17! How
does our MpoIN resolve this difficulty?!?

2. What would the 7 be if the dog became a 7¥1» to eat sheep?’

3. MpoIn maintains that according to the X111 1"5 7" a ™K POXT X292 is MWD since
it is wn and "2 °non nn. However there is a miwn which states 0°921 M0 799K
1"n o%wn. Why does he have to pay according to the X11mn 1"5 7", since N0 79OK
0°921 is W it cannot be derived from ]‘1|7?!4

! Others explain that we derive *1°X 2287 X273 from a mwa 7% of 11 177 (however there still is a difficulty why is it
7"772 2°1). See: 465 779n2) 19PN NR 1" . See also Y3 MR 7"210 who explains that according to the Xo1p 1"5 7"n the
1P oW is that it is 7Wwn (and according to the X1van 1o 7" the 17p oW is that it is P77 WIN2). w0,

% See 92 and (30 MK) 7"20.

? See mopn MK 1" .

* See 5"wamn and (15 MIX) 7"0.
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